UGC NET December 2020 and June 2021 examination

Paper 1st & Commerce

Question 1
Based on the data in the table, answer the questions that
follow

The following table presents the percentage breakup of
employees and the ratio of male to female employees working
in five different organisations (A to E). There is a total
number of 35,000 employees working in all five
organisations.

Organisation Percentage (%) of Ratio of Male to Female employees
employees

A 18 % 3:7

B 22% 11:9

C 31% 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

arfereT § fT T Sidps] & SMYR WX Ul & IR difere :

fFrafefaa aiferer ura fia - fia st (A - E) # sdarial & gfawe
faur= 3t R g 9 Afeen FHaial & srgurd $f gxiidt g1 Tt uim
I § $&@ 35000 FHAR! IR 3

HHATRYT BT TSTIR AU :




HHATRYT Pl

RUCE SRIIERT (9%) oY d Higel HHATRAT BT 3(IUTd
A 18 % 3.7
B 22 % 11:9
C 31% 3:2
D 15 % 2:3
E 14 % 1:3

What is the ratio of the number of males in Organisation A to
the number of males in Organisation C?

T A H 73Ul ®t TBAT 3R W69 C H TSUT Bt BT BT SUTd T 8
?

Options:-

(1) 18:31/18:31

(2) 7:27/7:27

(3) 9:19/9:19

(4) 9:31/9:31
Correct Answer : -4

Question 2
Based on the data in the table, answer the questions that
follow

The following table presents the percentage breakup of
employees and the ratio of male to female employees working
in five different organisations (A to E). There is a total
number of 35,000 employees working in all five
organisations.

Organisation Percentage (%) of Ratio of Male to Female employees
employees

A 18 % 3.7

B 22% 11:9

C 31% 3:2

D 15 % 2:3

E 14 % 1:3




Organisation-wise Breakup of Employees

difereT A feT U Sfips] & MYR W U & I ST :

Frafefaa arfeer ura i - g S1eA1 (A - E) ® sl & ufawa
faure @1 3k Yo 9 afgar sumival & rqura & gxiidl 81 9t uiw

WIS § $&@ 35000 FHAR! R 3
FUATRG] BT TSR AU :
: HHATRAT Bi :

RAGE| TR (%) &Y g Higel HHETRA] BT SIuTd
A 18 % 3.7
B 22 % 11:9
C 31 % 3:2
D 15 % 2:3
E 14 % 1:3

What is the difference between the number of females in
Organisation E and the number of females in Organisation B?

IS E # Afgarsi 1 I=1 3R @164 B § Afgarsi &t O8I &1 3idy
g ?

Options:-

(1) 170/170

(2) 210/210

(3) 300/300

(4) 350/350

Correct Answer : - 2




Question 3
Based on the data in the table, answer the questions that
follow

The following table presents the percentage breakup of
employees and the ratio of male to female employees working
in five different organisations (A to E). There is a total
number of 35,000 employees working in all five
organisations.

Organisation Percentage (%) of Ratio of Male to Female employees
employees

A 18 % 3:7

B 22% 11:9

C 31% 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

diferet A feT U sfipsl & MYR W U & I ST :

Frafeafaa aiferer ura fia - fie dwsat (A - E) # sdarial & gfaze
ﬁwaﬁﬁvwaﬁwmﬁﬁ%mﬁaﬁ%mmﬁm
WIS § $& 35000 FHAR! IR B

FHUATNT BT ATSHAAR AU ;
: HHA] Bt :
RRGE| A %) T2 g Higel SHATRG! BT 3T
A 18 % 3:7
B 22 % 11:9
C 31 % 3:2
D 15 % 2:3
E 14 % 1:3




The total number of employees in Organisation C is
approximately what percent of the total number of employees
in Organisation D?

TS € § HHAG! B $d VBAT JS- D H FHANRGT D FoI =T BT
Y far ufa=ea g 2

Options:-

(1) 147 %/147 %

(2) 183 % /183 %

(3) 207 % /207 %

(4) 312% /312 %

Correct Answer : - 3

Question 4
Based on the data in the table, answer the questions that
follow

The following table presents the percentage breakup of
employees and the ratio of male to female employees working
in five different organisations (A to E). There is a total
number of 35,000 employees working in all five
organisations.

Organisation Percentage (%) of Ratio of Male to Female employees
employees

A 18 % 3.7

B 22 % 11:9

C 31% 3:2

D 15% 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees




diferet A feT U Sfips] & MYR W U & I ST :

fFrafafea aifereT ura i - fie W61 (A - E) ¥ sl & i
faure @1 3k Yo 9 Afear su=ival & rgura I gxiidl 81 9t uim

TSl # $& 35000 FHIRI HTARA B
FHATNRG] BT TSR AU :
. Corets  ven et .

T3 TR (%) T3y d Higdll HHANRA! BT SJaTd
A 18 % 3:7
B 22 % 11:9
C 31 % 3:2
D 15 % 2:3
E 14 % 1:3

What is the sum total of the number of females in
Organisation D and the number of males in Organisation E?

TW1s D # Afgare @t J=T 3R W6 E § YUl &t =T BT Fdl AT
7 8?

Options:-

(1) 4375/4375

(2) 4475/4475

(3) 4500/4500

(4) 4875/4875

Correct Answer : -1

Question 5
Based on the data in the table, answer the questions that
follow

The following table presents the percentage breakup of

employees and the ratio of male to female employees working

in five different organisations (A to E). There is a total




number of 35,000 employees working in all five
organisations.

Organisation Percentage (%) of Ratio of Male to Female employees
employees

A 18 % 3.7

B 22 % 11:9

C 31% 3:2

D 15% 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

difereT d foT 7T Sfidps! & SMYR TR UYl & IR GIfer :

FufefRaa arfeer ura i - g S1s41 (A - E) ® saial & ufawra
faure @1 3k you 9 afgar suwival & srqura & gxiidl 81 9t uiw
WIS § $& 35000 FHAR! R 3

HHATRYT BT WITSTIR fIHT :

HHANG! Bt

UL SRR 96) oY g Al HHATRA! &1 3UTd
A 18 % 3.7
B 22 % 11:9
C 31 % 3:2
D 15 % 2:3
E 14 % 1:3

What is the total number of males in all the five organisations
together?

Tt o el ) fere? goul @ $a B /T E ?
Options:-




(1) 13350/13350, Option ID :- 8065,
(2) 14700/14700, Option ID :- 8066,
(3) 15960/15960, Option ID :- 8067,
(4) 16280/16280, Option ID :- 8068,
Correct Answer : - 3

Question 6
Non-verbal communication makes use of-

A. Behaviour to generate meanings

B. Emotional meanings

C. A non-clear system of rules

D. Verbal finessé

E. Clarity in abstraction

Choose the correct answer from the options given below:
RN WU fF-ThT FalT Har § 2

A. ¥ ITT FA & g FagR

B. HITATHSD 3%

c. frawt $t I} - Ty gomedt

D. ¥f® PIa

E. 9R U801 § ¥ydl

I f3T Y faspeul § A E I &1 999 HIFT :

Options:-

(1) A, BandC onIy/W A B 3R C
(2) A, B and E only/%dd A, B 3R E
(3) B, Cand D only/®dd B, C 3R D
(4) C,D and E only/%dd@ C, D 3R E
Correct Answer : -1

Question 7




In CBCS, Ability Enhancement Courses are of two kinds. They
are:

A. Ability Enhancement Compulsory Courses
B. Skill Enhancement Compulsory Courses

C. Ability Enhancement Elective Courses

D. Skill Enhancement Elective Courses

E. Skill Enhancement Courses

Choose the correct answer from the options given below:
CBCS ® gRgdl Hat- Ureusp i QI ISR $ d 819 7 :
A. Tradr "aeq sifAard ureasH

B. PI@ HatH ifard ureusH

C. Traar Had dofeus areasH

D. ®IXa dadH Iwfus yreumd

E. DA Hae yreusd

- fou 7T fawedl ° A 9E IWR BT 997 DI :
Options:-

(1) AandC onIy/W A 3R C

(2) A and D only/%dd A 3R D

(3) A and E only/%dd A 3R E

(4) A and B only/%dd A 3R B

Correct Answer : -3

Question 8
Given below are two statements

Statement I: Qualitative research is impressionistic and
subjective.

Statement II: Quantitative research has a higher level of
possibility of generalising the findings.




In light of the above statements, choose the correct answer
from the options given below

vy feume g :
SYT - I : UMD Y YHTFard) 7 RArvafrg g 21

U - II : TRHATOMTHS MY W SUaferdl &I JHRIHd B B @R
TR B UG Bidt 8l

SWRIFd YA & ATeld H, 7 T U faweul # & I8t W &1 944

BT :

Options:-

(1) Both Statement I and Statement II are false/$PYd 1 3R
II 3 3 2

(2) Both Statement I and Statement II are true/$Yd1I 3R II
Sl 9 B

(3) Statement is false but Statement I1I is true/%Yd I A

g, frg Y= 11 99 B

(4) Statement I is true but Statement 11 is false/HYd I I

g, frg Y7 11 39 B
Correct Answer : - 2

Question 9
Which of the following reliability techniques are used in
qualitative research?

A. Diachronic reliability
B. Quixotic reliability

C. Synchronic reliability
D. Holsti's constant

E. Chronbach's alpha

Choose the correct answer from the options given below:

Fafafaa # 9 #19 - W fRgar ae-e! &1 uahT nds My § fear




STl 8 ?

A. BTaHIS fAyRT-gar

B. 3ATGgIR® fayra-aar

C. THoIda® fayra-adn

D. BT BT 3R

E. SHI-T®h BT ]

1 fou v fiwedl # @ 9 I &1 999 I :

Options:-

(1)A,Band C onlylm A, B 3R C
(2)A,Cand E onlylm A, C 3R E
(3) B, C and D only/%dd@ B, C 3R D
(5) C,D andE only/®%dd@ C, D 3R E
Correct Answer : -1

Question 10
Given below are two statements

Statement I: In all interactions, a message is sent and a
message is received. Sometimes teachers believe they are
sending one message, but their voices, body language, choice
of words, and gestures may communicate a different
message.

Statement II: To deal with cyberbullying, parents should be
encouraged to keep computers in a public room in the house.

In light of the above statements, choose the most
appropriate answer from the options given below

TRAPyafRe MW E :

YA - I : I s=afharei A v Hewr Uftd fopam Sirar @ oik U "W
31 AfHrgur far sirar g1 & - mﬂﬁwwrrﬁ?r%ﬁ?%wmﬂ\—ﬂ%
T, g JYa g fF S99 smar, IR U, Jrgl &1 99+ iR Hia Hiimme
PO AT A AUt H gl

FYF - I1 : "IERIAET' A AU & T s g Sl W&




o H& A 3@ & fou fHHTaH! B Meied BT I1eyl

SWRIFT YA & e |, 7 AT 7T fawenl # & I8 W &1 984

PHiforg :

Options:-

(1) Both Statement I and Statement II are correct/ %Y 1
3R 11 ST 98 2

(2) Both Statement I and Statement II are incorrect/ Y- 1
3R II 4 7Tad

(3) Statement I is correct but Statement II is incorrect/®Yd

I T8 §, foeg ®YA II Teid 21

(4) Statement I is incorrect but Statement II is correct/ %Y+

I T4 8, fod &Y= II T8t B

Correct Answer : -1

Question 11
Match List I with List 11

List | List 11
Disease Mode of spread
A Cholera l. Lac[< of water to maintain
cleanliness
1. Involves water contact but
B. Trachoma . ;
not ingestion
C. Schistosomiasis I11. Ingestion of polluted water
D. Dengue IV. Requires host

Choose the correct answer from the options given below:

At -1 &1 gt -11 | gafea s

il | It -1

) CRIETIRED)

A. gl |. TS AT TG P foIT 5Td T 31T
B. gl 1. 398 O § U ST 8 WR fqUgul
(¢prm) e

C.

g?@ﬁm 1. UgNd STd BT STUgor

D. 37 V. RO} Y STzl gl &




1 feu e fawed # A 99 W gHIT :
Options:-

(1) A-I,B-III,C-II,D-1V
(2) A-II,B-III,C-1V,D-1I
(3) A-III,B-I,C-I1II,D-1V
(4) A-III,B-I,C-1V,D-11I
Correct Answer : - 3

Question 12
What is the name of the score the student would get if the
measurements were completely accurate and error-free?

gfe Ao guiaan wdie SR Ffexfea g1, ot faendf &1 fiem art wrwies &1
TH TS ?

Options:-

(1) I-score/3(TS - UTliPh

(2) Neutral score/dc® UTHiP

(3) True score/dRAd® YT

(4) Z-score/SE - UTHAI®

Correct Answer : - 3

Question 13
Arrange the following optical storage devices in increasing
order of their storage capacity.

A. DVD
B. CD-ROM
C. Blu-Ray

Choose the correct answer from the options given below:

fAwifed afped HSRU/ TSNS IUHUN B IAPH! HUSRUT &HAT S
d9e¢d A # afyd FIfeme :

A. 8149131
B. 4.8}, - 3MR.3M.uH.

C.&- X




= feu e fawedl | 9 98! SR &1 99 I
Options:-

(1) A/ B,C/A B, C

(2) A, C,B/AC, B

(3) B,A,C/B/AC

(4) B,C,A/B,C A

Correct Answer : -3

Question 14
"Contagious" spreading of behaviours through imitation, is
known as

P F THH | AFER] BT "JORIS"" TR HgardT g -
Options:-

(1) Norm effect/HAMH® YHId

(2) Random effect/?ilﬁf%ﬁ? YYHTd

(3) Ripple effect/@ﬁ-f UYTq

(4) Scripted effect/fdfUas gy
Correct Answer : - 3

Question 15
Match List I with List II

Consider the following in the context of the Square of
Opposition of Propositions

List | List 11

Propositions Square of Opposition
A' IT°A I.'A'and 'l' are False
is False

B. If'E'is Il.'E'is False; 'l' is
True True

C.If'l'is

False I1l.'E'and 'O" are True
D. If'O"is True IV. 'E"and I are

Undetermined

Choose the correct answer from the options given below:




gt -1 & gt -I1 | gafera sifom :

il | It -1

A R A 3T g A 3R 1 3T B
B. 3R E' 3 g I.'E' 3 §;I' TI B
C. 3R I 3T g 1. 'E' 3R '0' I B
D. 3R '0' 3 & IV, 'E' 3R 1 YR B
1 feu e fowed ® A 99 SWR gHT :
Options:-

(1) A-I,B-1II,C-III, D-IV

(2) A-II,B-III,C-IV,D-I

(3) A-III,B-I,C-II, D-1IV

(4) A-IV,B-I,C-1III,D-1II

Correct Answer : -4

Question 16
What does NIRF stand for?

T 33 3R TP (NIRF) & TUf =0 F1 § ?
Options:-

(1)

(2)

3)

(4)

National Institute of Ranking Federation/ﬁ'-‘!FlFr 3‘%‘5{6
ATE BT Bee==

National Institute of Ranking Framework /3%d ?{%‘&{c’
3ATE BT huad

National Institutional Ranking Federatlon/ﬁ'-‘zFlFr
sRTegmHa IHT vevmE

National Institutional Ranking Framework/ﬁ'-‘zFlFr

sRTegmHa IHT pHah

Correct Answer: -4

Question 17
Match List I with List II
List | List 11
A_' - I. Intuitive perception of all objects- past, distant and future due to supern
Samanyalaksana L
powers generated by meditation
Pratyaksa
B. Jiiana I1. When objects are not actually present to sens  but are conveyed to it tl

Laksana Pratyaks special medium




a

C. Yogaj [11. Perception of an object which is in contact with sense through previou

Pratyaksa knowledge of itself

D. Alaukika
Pratyaksa

Choose the correct answer from the options given below:

Tt -1 B gl -1 | gafera i :

?Fﬁ_ Tl -1

A.

T |, &9 O I SHGHTT Wfgadl & BRI
RNl Tt Tt & g, Td faw &7 of:
| OIS Ud& il

[

B.

Bl I1. 519 Uerd aRdd H 3f=3l 8 IurRd T8l 81
TET e T faRY H1eH & gRT U5 8l
Ua&

%m 1. frht et &1 aefievur i 3=l &
sl Tg H g, 3P d - IH & gRI

D.

3 Iv. Ut & THy a7 &1 yefierur, Sifd &
fo® ead

I*[|

- feu T fawedt ® A 9 W AT :
Options:-

(1) A-I,B-III,C-II,D-1V
(2) A-II,B-I, C-II1I,D-1V
3) A-III,B-II,C-I, D-1V
(4 A-1V,B-III,C-I, D-1II
Correct Answer : -4

Question 18
A man weighs 75% of his own weight plus 39 Ibs. How much
does he weigh?

U iR BT a9, YA WU & 9o+ BT 75% 3R 39 UISUS g1 IHBI
qTdP ao - HT ¢ ?

IV. The perception of a whole class of objects through a generic propert




Options:-

(1) 156 Ibs/156 UI3US
(2) 160 Ibs/160 UI3US
(3) 165 Ibs/165 UI3US
(4) 166 |Ibs/166 UI3US
Correct Answer : -1

Question 19
The example 'sound is eternal because it is caused’
represents which of the following Hetvabhasa

'Tee/ taf~ A &, w0 A Iua fu wid §1 ' ag Ierervn, fFufafaa &
5 geaTHTE @ 9 @ ?

Options:-

(1) Ashrayasiddha/ 3T4amiis

(2) Kalatita/®sTardid

(3) Svariapasiddha/TFURIS

(4) Viruddha/fdss

Correct Answer: - 4

Question 20
Media kits are used in

Hifsar frel (smaxas axga) &1 vanT frad glar @ 2
Options:-

(1) Classroom communication/ &l U

(2) Confidential communication/Tﬁ'q=ﬂ'q U
(3) External communication/dTal U9

(4) Internal communication/al'i?lﬁﬂ? Uy

Correct Answer : -3

Question 21

Which one of the following Sustainable Development Goals
(SDGSs) is related to sustainable consumption and production
patterns?

frafafaa & Q@ 919 - a1 SyRviy Ao @ga (vy € oft) Jurvia
SUHNT 3R UG & T & TefUd g ?

Options:-

(1) SDG 10/TH SISft 10

(2) SDG 11/T¥ SIsft 11




(3) SDG 12/TY SISl 12
(4) SDG 9/TH SISt 9

Correct Answer : -3

Question 22
What number should replace the question mark(?)?

35, 29, 64, 98, 17, 115, 3257, ?
foa I & gR1 yyfg & y=fud fear sar anfge 2

35, 29, 64,98,17, 115, 3257, ?
Options:-

(1) 126/126

(2) 146/146

(3) 89/89

(4) 98/98

Correct Answer : -3

Question 23

Ravi's salary is increased by 20%. On the increased salary,
the tax rate is 10% higher. The percentage increase in tax
liability is

fd &1 A 20% eI a1 7411 9¢ §T AT W B Bl & 10% AT
&l 81 PR 3uar § ufaxa gfS @ :

Options:-

(1) 20 %/20%

(2) 22 %/22%

(3) 23 %/23%

(4) 24 % /24%

Correct Answer : - 2

Question 24
Match List I with List II

List | List 11

Ericson's Psycho-social

development Stage

I. Normally after

A. Intimacy vs. Isolation .
retirement




B. Ego integrity vs. Despair I1. Much of adulthood

C. Generativity vs. Stagnation I11. During adolescence

D. ldentity vs. Confusion IV. During the 20 to 29

Choose the correct answer from the options given below:

Tt -1 B gEl -1 | gafera i :

it - =t -1
(RS A - TS -
A. TR S THTHITH ;EW:W%$
B. 376H HAMET & |I. T SiIa & 93
HARM fewd
C. ST S o Reg &

IV. 20 ¥ 29 9 I 31g
D. AT §H UTfy S
2 for e el 4 & wd swe ghT:
Options:-

(1) A-I,B-II,C-III,D-1V
(2) A-II,B-III,C-1V,D-1I
3) A-III,B-1IV,C-I, D-1II
(4) A-1V,B-1I,C-II, D-1III
Correct Answer : -4

Question 25
Name the fallacy committed in the argument

All dogs are mammals.
No cats are dogs.
Therefore, no cats are mammals.

Choose the correct answer from the options given below




d% H gdTHTT &1 914 ford :
Tt o WY 819 g1
i3 faeedt p1 T8 B

3d: B ol U T8 2

Options:-

(1) Existential FaIIacy/Gﬁﬁﬁﬁﬁ SATHTH
(2) Illicit Major/3dY JATed

(3) Illicit Minor/3{d% T&

(4) Undistributed Middle/3fauTford 8q

Correct Answer : - 2

Question 26
The rationalistic mode of knowledge accepts the rules of

M P gfgard) TR g fFaq ararg ?
Options:-

(1) Authority/3xl

(2) Legality/aedr

(3) Logic/

(4) Manipulation/%TaT{

Correct Answer : - 3

Question 27
In which year did the first commitment period of the Kyoto
Protocol come to an end?

FNel NelBTa & Ugd Ufadsdr b1a o1 3id f6g af & ganm 2
Options:-

(1) 2008/2008

(2) 2011/2011

(3) 2012/2012

(4) 2014/2014

Correct Answer : - 3

Question 28
Which of the following are the essential characteristics of the
case study method?




A. Negatively oriented

B. Appreciation oriented

C. Particularistic

D. Descriptive

E. Inductive

Choose the correct answer from the options given below:
fFrafafad # & o19-9 S9-sivrae fafy o sifard faiwamg § 2
A. THRTHS BI 3R G

B. HE@ ¢ 31 3R 399

c. faRrydarardt

D. qUNTH®

E. MTHATHSD

i fou e faweul # 9 T SR &1 99 B :
Options:-

(1) A, B and E only/%dd A, B 3R E

(2) A, B and C only/%dd A, B 3R C

(3) B, Cand D only/%dd B, C 3R D

(4) C,D andE only/®%dd C, D 3R E
Correct Answer : -4

Question 29

Which among the following are components of decision traps
to illustrate what needs to be a possible evaluatory
framework to monitor the learning process?

A. Overconfidence
B. Coaching

C. Frame blindness




D. Taking shortcuts
E. Persistent misconception

Choose the correct answer from the options given below:

SfErT ufspar &t IR & fore Suifaa qeaieTes < &1 8, 98
A # emAara fAofy wet (f3fem 2u) & ueo Fufifa A H19 § 2

A. 3fayr
B. 3rgfreror

C. ¥ 3iedr
D. Tic - & ol
E. STt ffm - yRon

i feu 7T foweul § 9 981 SR &1 994 I ;
Options:-

(1) A, C and D only/%dd A, C 3R D

(2) A, DandE only/3dd A, D 3R E

(3) B, Cand D only/%dd B, C 3k D

(4) B, D and E only/%dd B, D 3R E
Correct Answer : -1

Question 30
Given below are two statements

Statement I: A 60 m long train passes a 90 m platform in 10
seconds. The speed of the train is 45 km/hour.

Statement II: If the ratio of the speeds of A and B is a:b, then
the ratio of the time taken by them to cover the same
distance is a:b.

In light of the above statements, choose the correct answer
from the options given below

TR ey U g :
HYF - I : T 60 HieT dw} YS! Uk 90 Hick WehiH &1 10 Ahs H




UR &3 ddl g1 YS! &t a1 45 ./ / e 81

PYF - II : A 3R B & I1d &1 U a : b §; T 9% GRT IUM g3l 09
P31 & forg, fere e gwg ST U a : b B

SWRIFd YA & el H, 7 T T fawenl # & I8t W &1 984

PHiforg :

Options:-

(1) Both Statement I and Statement 1II are false/%Yd 1 3R
II S 3 Bl

(2) Both Statement I and Statement II are true/$Yd 1 3R II
Y 9 g

(3) Statement I is false but Statement I1I is true/%Yd I 9™

g, fo< &Y= 11 9« B

(4) Statement]I is true but Statement 11 is false/%Yd I 9

g, fp<d &Y= 11 37U 21
Correct Answer : -1

Question 31
Information provided before sending the primary message is
known as

WIS =T Vo | Ugd &1 I aTelt a1 B Hgd o ¢
Options:-

(1) Feed forward/3¥4 g‘@ (Uﬂ?&-’ tﬁ‘éﬂ?ﬁf)

(2) Indicator/ﬁm

(3) Intro/uR=d

(4) Pre-message/ll'qc — W

Correct Answer: -1

Question 32
A competent communicator is

A. Culturally neutral
B. Culturally sensitive
C. Totally ethical

D. Situationally ethical




E. An effective listener

Choose the correct answer from the options given below:

A YYD T BT 8§ ?

A. JiRPpfde U 4 der

B. Uipfa® ¥ q Ydg=id
C. quiaar Afd®

D. fRIfq & SgER Afa®

E. TP WHTdT oieT

i feu 7T foweul § 9 981 SR &1 994 I ;
Options:-

(1) A,BandC onlylm A, B 3R C

(2) B,CandD onlylm B, C 3R D

(3) B, CandE only/®dd B, C 3R E

(4) C,DandE only/®%dd@C, D 3R E
Correct Answer : -3

Question 33
Answer the following statements?

A. At 5% rate of simple interest, a certain sum will be
doubled in 15 years.

B. A sum becomes double in 10 years. The annual rate of
simple interest is 12%.

C. ¥1000 will become ¥1331 in 3 years at compound interest
rate of 10% per annum.

Which of the above statements is/are CORRECT?
frafafaa sy w R sk

A. 5% HTYRY T Dt &R W, TP i3 Ay 15 quf § gt g Awedt g1
B. U% A 10 961 A FHI B AT 81 JTURYT TS Bt a1 &% 12%




H

C. diH auf § 21000, T1331 Bl T, 10% HATAMT AP Thgis
TS D R W

= feu e fawedl | 9 98! SR &1 99 PIfe
Options:-

(1) AandB only/aﬁﬁ A 3R B

(2) A and C only/&dd A 3R C

(3) B and Conly/%dd B 3R C

(4) C onlylaﬁﬁ C

Correct Answer : -4

Question 34
Which of the following is a private university?

fFafafad 9 9 o9 -a1 i fyfeeaea g 2
Options:-

(1) Anna University/3d1 fayfaemea

(2) BITS pilani/feeHd (BITS) fuarit

(3) Burdwan University/a'c,’?slﬂ fayfaemey
(4) IIIT/3TS 3MTS 31§ <t (IIIT)

Correct Answer : - 2

Question 35
Given below are two statements, one is labelled as Assertion
A and the other is labelled as Reason R

Assertion A: A good computer networking solution can be
very much beneficial for your business.

Reason R: With computer networking, you can cut back on
costs and allow for efficient use of resources.

In light of the above statements, choose the correct answer
from the options given below

R FyT R M T : T AfUHYUT (Assertion A) F U H 3R gHRT
BR‘I%HTR'UT(Reason R)a?'\‘?qﬁ:

fUPYT (A) : TH DT FHHCY ATqihIT Iy ATIPH AR & e




SfaeTHe® g Jhdl gl

PRUT (R) : PSR AcafHT & JTY, 3T AN HH B IPHd 8 3
TATYT & BTGP T B AP 8|

SWRIad HY & ATee §, A2 o fapwu & A 9 IWR &1 999 HIifoT :

Options:-

(1) Ais false but R is true/(A) 39 8, W (R) T4 &I

(2) A is true but R is false/(A) 99 8, IR (R) 3/ g

(3) Both A and R are true and R is the correct explanation
of A/ (A) 3 (R) 31 T4 § 3R (R), (A) F Hg! RS B

(4) Both A and R are true but R is NOT the correct
explanation of A/(A) 3R (R) &I 9« & W= (R), (A) &I
el saren T8 2l

Correct Answer : -3

Question 36
Which of the following statements about desktop and laptop
computers are TRUE?

A. Most modern laptop computers have built-in webcams

B. Desktop computers are not very portable

C. All desktop computers have built-in touchpad

D. Laptop computers are rarely supplied with a mouse
Choose the correct answer from the options given below:
SHeIT IR AUy HrgeX & T § FHifed sy A P Ia @ ?

A. AfIFaR MYfAP Aueiy $geX | 39 - $T Ugd | T 31T BT 3|
B. S¥HclU R Tgd SHfUP RIHIARI - I T8l gid &

C. 9t ey sl # faee - 39 <9 - U giar 3

g.ﬁuﬁqwﬁﬁmm%wua@aﬁmmﬁ@?ﬁ
|

i fou e faweul # 9 9 SR &1 99 B :
Options:-




(1) A, B and D only/%dd A, B 3R D
(2) A, BandC onIy/W A, B 3R C
(3) A, B,CandD/A, B, C3RRD

(4) B, Cand D only/%dd B, C 3R D
Correct Answer: -1

Question 37
India has been attracting only a fraction of international
students because of

A. Lack of residential accommodation for foreign students
B. Difficulties in recognition of international qualification
C. Rigid admission process

D. Lack of enthusiasm among teachers

E. Lack of enthusiasm among students

Choose the correct answer from the options given below
HRA H frd HRUT 9gd HH awpiy fendf sma @ 3 2

A. fae=it Bt & fore smardi gfawr &1 3ruma

B. SARTEN TRGdT I A1-AdT UG P | HioATSal

C. 3% Ya=T gfehar

D. Rarel # IE ST UG

E. faenfai & Iame &1 s

I f3T Y faspeul § A E I &1 999 HIFT :

Options:-

(1) A and B only/%dd A 3R B
(2) BandC only/W B 3R C
(3) CandD only/W c3RD
(4) D and E only/%dd D 3R E
Correct Answer: -1

Question 38




From the options given below, pick the CORRECT sequence in
the context of constituent parts of inference

Tt B Juit &1 T9H, HM & U 3i% & T<5H 7 B9 -
Options:-

(1) Hetu, Udaharana, Nigamana, Upanaya, Pratijﬁa/%‘g’,
(2) Nigamana, Hetu, Udaharana, Upanaya, Pratijﬁa/ﬁ'lTFFr,

(3) Pratijha, Hetu, Udaharana, Upanaya, Nigamana/uﬁiﬂ,
(4) Pratijha, Hetu, Upanaya, Udaharana, Nigamana/uﬁiﬂ,
84, SUTd, ITevvl, T+

Correct Answer : -3

Question 39

If the wind speeds increase from 4.0 m/s to 5.0 m/s, the
power output from an ideal windmill will increase by a factor
of about

gfe ygq &1 7fd 4.0 HY. /7 | A TeH 5.0 Hi/A 8 W<l 8, dF vP et
éﬁ;aﬁﬁmﬁﬁmﬁﬁwmﬁmwﬁmﬁ%wﬁq@
?

Options:-
(1) 4/4,
(2) s/5,
(3) 2/2,
(4) 3/3,

Correct Answer : -3

Question 40
Match List I with List II

List | List 11
Scale Characteristics

A. Arbitrary

Scale I. Attitude statements are decided by judges




B. Thurstone I1. Summated ratings

Scale

C. Likert I11. Consists of seven spaces between two bipolar
Scale adjectives

D. Semantic . o
differential IV. Questions are selected on an a priori basis

Choose the correct answer from the options given below:

Tt -1 B gl -1 | gafera i :

Tl | It -1
(AT (Ferreram)

1. STNGRT i@ & ol
A, T I rorfaesTolt gRY e o 1
B. Y[ AT 1. gHTR T Pife - fAefvor
S 1. 550 & fgydta fa=morn &

1 I1d 3R 3ld 2

rrof £49) IV. U8l &1 I8 GRTIHIdSD YR
D. Tsard favie® A

- fow e fawedt ® 9 98 SR gHe
Options:-

(1) A-I,B-II,C-III,D-1V
(2) A-II,B-III,C-1V,D-1I
3) A-III,B-1IV,C-I, D-1II
(4 A-1V,B-1I,C-1II,D-1II1
Correct Answer : -4

Question 41
Match List I with List II

List | List 11
(Computer Terms) (Examples)
. l.

A. Operating Pentium
system

B. Application software I1. Linux
C. Processor I11. Router

D. Network Device IV. Anti-virus




Choose the correct answer from the options given below:

gt -1 & gt -I1 | gafera sifom :

il - It -1
(PR Yq) CEHERY)

A. TR Rer | Ufeaw

B. Uy At ddR 1. TSI

C. IR 1. ISR

D. Hcdd fSargy Iv. Tt - argy
- fou ¢ fawenl # | W@ SR gfT :
Options:-

(1) A-I,B-1IV,C-II, D-1III
(2) A-II,B-1V,C-1I, D-1III
3) A-II,B-1IV,C-III,D-1I
(4 A-III,B-II,C-I, D-1V
Correct Answer : - 2

Question 42
The term 'open learning' represent approaches that focus on

A. Opening access to education and training provision
B. Freeing learners from the constraints of time and place
C. Learning and evaluation without a specified curriculum

D. Offering flexible learning opportunities to individuals and
groups of learners

E. Making students free from any educational loads

Choose the correct answer from the options given below:

fFrafafed § 3 TR e $iga = are Iur™i &1 g iferm
(3o @) wreg quifar 8 2

A. 1&g uiRieror & yrau= Y ugd | @
B. 99T 3R ®H ot Jtren ¥ Renfday & gaa sar




C. f&=it fafkry urea=rat & famT iftnma Sik g

D. afaral 3R Rremdf Tug! @1 a=iia SRR S@wR UM &1
E. foeft Qfére yR & faenfaf & gaa &

1 fau T fiwedl # @ 9 I &1 999 I :

Options:-

(1) A,BandD only/%dd@ A, B3R D
(2) A, BandE onlylm A, B 3R E

(3) A, Band Conly/%dd A, B 3R C

(4) B,CandD only/aﬁ?r B, C 3R D

Correct Answer : -1

Question 43
Given below are two statements

Statement I: Tablet computers have touch screens.

Statement II: A tablet computer has a keyboard.

In light of the above statements, choose the correct answer

from the options given below

ﬂ%ﬁmm%qw%
HYF - I : ¢qdc FYER] & U <d BpiA gidl 8l
HYF - II : TP ¢qac HYLR | PIaIS gial g

SWRITd HYAl & 3TeId H, A feu v fAweul § I gl IR &1 99

HIfoIT :

Options:-

(1) Both Statement I and Statement II are false/%Yd 1 AR

II S 3 Bl

(2) Both Statement I and Statement II are true/%Yd 1 3R II

Y 9 g

(3) Statement I is false but Statement 11 is true/%Yd I 9™

g, g sy 11 9@ 21

(4) Statement]Iis true but Statement 11 is false/%Yd I 9 %

, forg @Y= 11 s g
Correct Answer : - 4




Question 44
Given below are two statements

Statement I: People use non-verbal cues more than verbal
cues.

Statement II: Non-verbal cues have better believability than
spoken words.

In light of the above statements, choose the correct answer
from the options given below

TGPy feu U E:
HYF - I : a1 Afedd Tbdl A TP e Jhdl ST AT HId gl

gzﬁ-u : 3QMMfedd HAdbd- H qTId XMegl P VLT dgar fayI-adr gidt
|

SWRIFd HYAT & 3iTelie A, i foy v el A A T8 IR &1 9949

BT :

Options:-

(1) Both Statement I and Statement II are false/ %Y1 AR
II S 3 Bl

(2) Both Statement I and Statement II are true/%Yd 1 3R 11
Sl 9 B

(3) Statement ]I is false but Statement II is true/HYd I 9™

g, frq oY= 11 99 B

(4) Statement ]I is true but Statement 11 is false/HYd I I

g, frg Y7 I 39 B
Correct Answer : - 2

Question 45
What fraction (%) of the total primary energy used in India is
derived from biomass?

YR # TR $t 9F a1ell 7 WUIE Fot ST S - 91 771 (%)
Squgfd (IEHY) ¥ IO AT @ ?

Options:-

(1) 22%




(2) 32%

(3) 42%

(4) 56%

Correct Answer : - 2

Question 46
Read the given passage and answer the questions that follow

A global light pollution map developed by a group of
researchers has ranked New Delhi, Kolkotta and Bengaluru as
the three cities with the highest light pollution in India. It
should serve to alert us to the looming problem of light
pollution about which we are not only doing so little to
prevent but are also unaware about. Light pollution refers to
the harmful impact of artificial outdoor lighting. While
artificial outdoor lighting is needed in the form of street lights
it increases safety on roads and enables us to study and work
in the dark, its use for floodlighting, illumination, advertising,
etc has grown manifold in recent decades, resulting in the
problem of light pollution. Studies show that the brightness
from outdoor lights has risen steadily across India over a 20
yvear period, with New Delhi, Telangana, Maharashtra,
Karnataka and Uttar Pradesh showing a "very high light
intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several
harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment. Use
of artificial lights at night gives us more working and studying
hours but it results in the problem of 'loss of night.' We find it
difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have
serious implications for our moods and health. Illumination of
gardens impacts animals and insects too. It is nocturnal
insects and birds that suffer the most due to light pollution. It




makes them disoriented, impacts their reproduction and thus
their populations.

T fe e # seagde ufew

Mudpaiel & e TYg gRT AeRid e Ify® goHm=r yguor a=Re gRI 93
fawelt, Fodwr 3R dTIEE B URA & i Falfrd TR UgWoT arel TRI

ﬁww%wﬁaﬁmwaﬁMm%uﬁmﬁaﬁm
IIRT 7 Had org® e F e g0 v yag w3 R § 9few o &0
SIS ot &1 TSI UgUUT HT dreqd AT 978l U1 - TR &

Prey)
TR S S 21 Sl § 3| P e %%2oaﬁaﬁa|aﬁrﬁq§r

YRd # 9redl @1gel § UTw 811 arell g o o - ¥ gfs gt 18 &,
ﬁﬂﬁﬂéﬁﬁﬁ,%ﬁﬁ,mﬁ,maﬁvm%&wﬁ 1993 ¥ 2013
n I

TN TGRS @ WA WR TR U9 US addl 21 99 T ydue usrai
3R Pl B W yuifaa F=ar 81 U= uguur § Faifte g1fa AR diel

3R uféral &1 gidt g1 I8 S YA B 3d1 & 3R I9% U= &l 3R
BAWEEY IAB! ST B YHIAT HIdT g

Light pollution intensity refers to

UHTR UGHUT igdT &1 a1y fhad 8 2

Options:-

(1) Increased outdoor brightness during night time/ARA &
Ty 941 g% 9T

(2) Manifold hike in use of electricity in rural areas/‘;ITlﬂ'UT &=
# fooreft & v | &5 1 gfs

(3) More and more use of electricity in urban areas/ﬂ?‘ﬁ &%ﬁ'

# fawredl &1 siftre1itres T




(4) Use of artificial light for road safety/Js® JR&T & fow
AW AT BT UGN

Correct Answer : -1

Question 47
Read the given passage and answer the questions that follow

A global light pollution map developed by a group of
researchers has ranked New Delhi, Kolkotta and Bengaluru as
the three cities with the highest light pollution in India. It
should serve to alert us to the looming problem of light
pollution about which we are not only doing so little to
prevent but are also unaware about. Light pollution refers to
the harmful impact of artificial outdoor lighting. While
artificial outdoor lighting is needed in the form of street lights
it increases safety on roads and enables us to study and work
in the dark, its use for floodlighting, illumination, advertising,
etc has grown manifold in recent decades, resulting in the
problem of light pollution. Studies show that the brightness
from outdoor lights has risen steadily across India over a 20
year period, with New Delhi, Telangana, Maharashtra,
Karnataka and Uttar Pradesh showing a "very high light
intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several
harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment. Use
of artificial lights at night gives us more working and studying
hours but it results in the problem of 'loss of night.' We find it
difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have
serious implications for our moods and health. Illumination of
gardens impacts animals and insects too. It is nocturnal
insects and birds that suffer the most due to light pollution. It
makes them disoriented, impacts their reproduction and thus
their populations.

1 few ez 1 sagd® ufen :

MyFaisl & TH UG gR1 fAH I TP AP USRI Uguur AR §RI A%
fowehl, Faw<T 3R e B URA & FiF Halfire YHm=r uguor ard TRY
# I@GT T 1 SUY T YD UGHUT BT SRR IHwn & ufd J=d 81 SHn
13T 9 Pad e Ve & oI g0 v A &2 I8 & dfcw oy gd




AU ot §1 TSI UGUUT HT dTedd AT 918l TP - TR &
BIMGRS YT A g1 SIafe S 9T Th1=l - TaRIT B agadmal

3R e B i wia T ¥1 T Ugul & WAt g iR Ao
3R gfaral &1 gidt 21 I8 S fIUfid +X 3d1 § 3R I9% Ue= &l 3R
BORdEy IAP! SIS BI YHIAT ST 2l

The light pollution map is related to adverse effects of

TSI UGWUT AR fhad ufaed gymal § Hefta § 2
Options:-
(1) Outdoor artificial light/aTe&l $AT TS

(2) Rural electricity projects/JTHivl fagga uRaieHTe
(3) Sunlight/Jd T UHTA

(4) Urban electricity projects/<gd} fagga uf¥aieHmg

Correct Answer: -1

Question 48
Read the given passage and answer the questions that follow

A global light pollution map developed by a group of
researchers has ranked New Delhi, Kolkotta and Bengaluru as
the three cities with the highest light pollution in India. It
should serve to alert us to the looming problem of light
pollution about which we are not only doing so little to
prevent but are also unaware about. Light pollution refers to




the harmful impact of artificial outdoor lighting. While
artificial outdoor lighting is needed in the form of street lights
it increases safety on roads and enables us to study and work
in the dark, its use for floodlighting, illumination, advertising,
etc has grown manifold in recent decades, resulting in the
problem of light pollution. Studies show that the brightness
from outdoor lights has risen steadily across India over a 20
yvear period, with New Delhi, Telangana, Maharashtra,
Karnataka and Uttar Pradesh showing a "very high light
intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several
harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment. Use
of artificial lights at night gives us more working and studying
hours but it results in the problem of 'loss of night.' We find it
difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have
serious implications for our moods and health. Illumination of
gardens impacts animals and insects too. It is nocturnal
insects and birds that suffer the most due to light pollution. It
makes them disoriented, impacts their reproduction and thus
their populations.

Muwdatsit & TH TYg gR1 fAsRa e e uemr uguur aFfE gRI A3
faweh, Fawdr 3R T B YR & o1 Halfie YT Ugyor ared " RI
ﬁwwélmaﬁmwaﬁMW%uﬁmﬁae‘rm
YIRT 7 Shaa forI®! A & T gH UG Uag 92 TR ¢ afewd ford gd
SR ot &1 TSI UguUT FT dareqd FRH 978 U1 - TR &

TP R® UHTT § 31 Tafe HEAT TTaT USRI - HIRIT B TaRgHdl
TS| IR YR&T de11 & forw Wie a@rgel & v # gidl 8 ok g8 sd SR o
e 9 HTH H1 H JeTadl Bl 8, 8T & PO x| 3 uRudifa, udiu=,
TR 31fe & oY ST®T URT &5 IM1 9¢ 14T §, oIS U= ugyur &1
U 30T Bidl 31 eaa § @ &) freran 8 & 2oaﬁaﬂaﬁf€rﬁq§
YRA H dre3t Arsel | urd g1 arelt difta # R - R 9fS gidt 718 2,
forad =5 fewett, demr, HeRTY, Ffcd 3R IR Uk A 1993 ¥ 2013
¥ f " 3rafire wguur daar 9fE 3T Fi e 81

s wm-mﬁqmﬁw% TR g Uy
- gfer ok Pl & wWd R 3R guR wiRuwr R Wi &8 siieR®




PSS Bl 81 BHR ST - SIFRUI 99 W $HST YHTG USdT g, foraesT
TART WGl 9 WA WR 1R YT us &dT g1 IF1 &7 udiu= aggasii
3R diel & H guIfaa Hear 81 TS Uguur A Haifie g+ IfFwR sl
3R uferdi &1 gidl 81 98 S8 ferufia o= 3a1 8 3R 391 UsH+ &l
PAEEY ITP] SHEET HI GHIAT Hear gl

Excessive hours of artificial light adversely impacts our
A. Work schedule

B. Sleep cycle

C. Study hours

D. Moods and health

Choose the correct answer from the options given below

PAT UBTR & QYD AT TP IUIT I8+ A gUN TR ufdopa
THTT USAT © :

A. STd 1Y

B. 1o

C. UeTs & IHd

D. A1 9 WA

- fou 7T fawed & 9 9d W A ¢
Options:-

(1) A and B only/%dd A 3R B
(2) BandC onIy/W B 3R C
(3) B and D only/%dd B 3R D
(4) CandD only/W C3RD
Correct Answer : - 3

Question 49
Read the given passage and answer the questions that follow




A global light pollution map developed by a group of
researchers has ranked New Delhi, Kolkotta and Bengaluru as
the three cities with the highest light pollution in India. It
should serve to alert us to the looming problem of light
pollution about which we are not only doing so little to
prevent but are also unaware about. Light pollution refers to
the harmful impact of artificial outdoor lighting. While
artificial outdoor lighting is needed in the form of street lights
it increases safety on roads and enables us to study and work
in the dark, its use for floodlighting, illumination, advertising,
etc has grown manifold in recent decades, resulting in the
problem of light pollution. Studies show that the brightness
from outdoor lights has risen steadily across India over a 20
year period, with New Delhi, Telangana, Maharashtra,
Karnataka and Uttar Pradesh showing a "very high light
intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several
harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment. Use
of artificial lights at night gives us more working and studying
hours but it results in the problem of 'loss of night." We find it
difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have
serious implications for our moods and health. Illumination of
gardens impacts animals and insects too. It is nocturnal
insects and birds that suffer the most due to light pollution. It
makes them disoriented, impacts their reproduction and thus
their populations.

1 few ez 1 eagd® ufew :

MuPpais & TP g gRT PRI U e TS Uguor AH=fRE gRI 75
faweh, Fawdr 3R e B YR & dIF Halfie YT Ugyor ared 7RI
ﬁwwélwﬁsﬁwwaﬁmm%wﬁrﬁa@m
TIRT 7 Fad ForIP! AP & forw g0 v YAy &1 I8 & dfcw forad gd
AR WY €1 TPTRI UguUr &7 a1eud HHT STe TR - AT F
TIFPR® UUTT A §1 TGP HHAT qTe TS - GRIT BT ATTAHT
S| R YR&T g1 & forw Wie @gel & v A gidl 8 ok g8 ad SR o
g1 9 B H31 H gl $dl 8, 810 & $O WP 1 uRudii, wdius,
TR SI¢ & T ST U $3 A1 9¢ 14T 8, P yem=r uguur &t
AT I Bl 81 reagl § @ &) firerar g 5 20 auf &) s@fy A ¥




PSS Bl 81 HR ST - SIFRYI 99 W SH®T YHTG USdr g, foreT
SART HIeRNSi 9 WA WR 1R YUTT us g&dT g1 IFT &7 Udiue aggasii
3R el & H guIfaa Hear 81 TSI Uguur A Haifie g1+ AR sl
3R uferai &1 gidl 81 98 S8 ferufia o= 3a1 8 3R 391 us+ &l
PAEEY ITP! SHEET HI UHIAT Hear gl

One of the major pollutants is in the form of

TP UIE YT Ugud g U § <@+ & fiaar g 2
Options:-

(1) Home Iights/ﬂ?ﬂﬁ?l‘l?z%

(2) Illuminated advertising/UdIWd UER

(3) Indoor lights/ 33 &t @TSe

(4) Street lights/ds% G| ?ns%

Correct Answer : - 2

Question 50
Read the given passage and answer the questions that follow

A global light pollution map developed by a group of
researchers has ranked New Delhi, Kolkotta and Bengaluru as
the three cities with the highest light pollution in India. It
should serve to alert us to the looming problem of light
pollution about which we are not only doing so little to
prevent but are also unaware about. Light pollution refers to
the harmful impact of artificial outdoor lighting. While
artificial outdoor lighting is needed in the form of street lights
it increases safety on roads and enables us to study and work
in the dark, its use for floodlighting, illumination, advertising,
etc has grown manifold in recent decades, resulting in the
problem of light pollution. Studies show that the brightness
from outdoor lights has risen steadily across India over a 20




year period, with New Delhi, Telangana, Maharashtra,
Karnataka and Uttar Pradesh showing a "very high light
intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several
harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment. Use
of artificial lights at night gives us more working and studying
hours but it results in the problem of 'loss of night." We find it
difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have
serious implications for our moods and health. Illumination of
gardens impacts animals and insects too. It is nocturnal
insects and birds that suffer the most due to light pollution. It
makes them disoriented, impacts their reproduction and thus
their populations.

Qﬁmﬁ%wwmmwmmwmm#
faweh, Fawdr 3R T B YR & dIF Halfie UHTT UGy ared T RI
ﬁww%lmsﬁwwaﬁmw%uﬁmﬁﬁﬁm
IRT 7 haa forI®! A & T gH TTvg 7a g 92 TR ¢ afewd ford gd
ST ot &1 TSI UgUUT FT dareqd FEH 918 U1 - TR &

TP R® UHTT | 31 Safd HEAH TTaT USRI - HIRIT B TaRIH T
TS| IR YR&T de11 & fore Wie @gel & ©u A gidl 3 ok g8 g SR o
e 9 HTH H1 H JeTadl HIdl §, 8T & PO x| 3 uRudift, udiu=,
TR 31fe & oI SH®T UART &5 TM1 9¢ 14T 8, oIS U= ugyur &1
THWT IF gl 21 gl # ¢ ! firear @ fv 2oaﬁaﬂaﬁf§rﬁq§
YR § 918t A1gel § U g+ arent difta & < - q@aﬁ’ﬁr{

forad a3 fewll, aeTHT, WERTY, FAled R I UG d 1993 | 2

& d " it wguur daar 3fE 3T Fi e 21

ey ww-mﬁqaﬁanﬁw% TR dfeh ux]
- gfégray 3R Fiel & Wy W 3R gUR wWiavu ® Wi &3 gifiere
THTT Bid 81 T ® A ar3el F UahT A sUR 1 3R ueE & forw
ﬁaﬁmﬁﬁﬁﬁq@aﬁ%mmm'wﬁ-m'aﬁmm
gl 81 5 S| Bt I=gadl BT AR TRI | YA gidT g ol gH g 3m
Wﬁﬁ%lmﬁw-mmwmummaﬁw
AR AeRmS @ WA WR TR YU U Hehdr 81 SN &7 Udiu= uy]
aﬁ?ﬁﬁﬁmﬁumﬁam%lmu@mﬁmaﬁﬂﬁwaﬂﬁ




3R ufaral &Y g1t 21 98 S= RTUMA B adT @ 3R I9P Usi=9 B! 3R
FAERTY 3P SIS B YU ST 8

The loss of night, as mentioned in the passage, will lead to

TR # T 70 Ia & SgER M - dU A 91 3 ?

Options:-

(1) Increase in education/fRrem # gfg

(2) More human productivity/GI'FW HIAd SdTghdl

(3) The altered activities of nocturnal creatures/ﬂﬁiﬂ Sital &
ufvafda ferarean

(4) The well-being of human population/dd STHSIT BT
DUl

Correct Answer : - 3

Subject 2: Commerce

Question 1
Match List I with List IT :

List I List IT
(A) International finance corporation (D 1944
(B) International Development (I) 1967
Association
(C) World Intellectual property (IIT) 1956
organisation

(D) International bame for reconstruction (IV) 1960

and Development

Choose the correct answer from the options given below:

(1 A-av), @d - @O. (© - dn. D) - {dDh

™. © -@O®. @O - I
(3) A)-dID. B) — d)., (©€) - av). M) - @D

(2) @ -dadn. @)

4 @) -dn. B - av). © - a, @O - @




gl I % w1y g 11 =1 fgerm Fifse

gl I qel 11
(A) FZHAIHA BTEH FRINIH @M 1944
(B) SHIHA T UHIfHUIH (1) 1967
(C) des SZeAag3iad UI9el TRIHTEHYA III) 1956

(D) SEHAYAE b B ThduH Ug Sdelqie (IV) 1960

4= feu v fawedi | 98 3T &1 =939 Fifse .

1 @W-av., ® -0O. (© - dn. @O - dh
2 @W-a. B -av. © -O. @O - dmD
3 @W-dn. @ —-an. (© -av. @O - D
4 @W-adp. & -av. © -a, @O - @D

Options:-

1 1

(2) 2

3 3

4) 4

Correct Answer : -4

Question 2

The theory which explains the effect of devaluation on balance of trade 1s known as:

(1) Phillips Curve theory (2)  Mundell — Tobin Hypothesis
(3) J Curve Theory (4) K Curve Theory

Tz Tagia 1 =R HgeH % Had § HAagead & U9 il SN AT 2, Faedl @

(1)  Trfem =1 3% fagm (2)  HsH-zIfEA iEReT

(3) = = fagE (4) % 9% faga

Options:-




(1) 1

2 2
3) 3
4) 4

Correct Answer : -3

Question 3

The amount of penalty for making a false statement to the “Competition Commis:
person who 1s a party to a combination shall be between

(1) 20 lakhs to 50 lakhs (2) 50 lakhs to 1 crore
(3) 8 lakhs to 10 lakhs (4) 70 lakhs to 1 crore

(1) 20 & | 50 =@ (2) 50 @ME ¥ 1 F13
(3) 8 =@ # 10 =g (4) 70=m@ 9 1903
Options:-
1) 1
2 2
3) 3
4) 4

Correct Answer : - 2

Question 4

The accounting standard AS3 (Revised) has become mandatory w.e.f. accountir

beginning from 01-04-2001 for which of the following enterprise?

(1) Commercial. industrial and business reporting enterprises whose turnove

accounting period exceeds ¥ 50 crores.

(2) Enterprises whose debt or equity securities are not listed on a recogni

exchange.

(3) All enterprises whose turnover exceeds ¥ 2 crores.

(4) Only banking and insurance




fAfeifiga § o fa9 o & fou 01-4-2001 O 9RY 24 a6l o@sd g3 & oo ASS

-\ - o C o
G % AHaE 7 ™ R Y

= ER T o 3 Ry “\ B . ~\ N .
(1) auifsgeh, Ehms 3R =5aEE e +E1 99 399 996 FReEn @@ s A34af

T50 FUS ° FATaE A

(2) 3 7=m feht =m0 st wfagfaat fedt a=ar-uma =i oS W gEEg 7 =)
(3) T 3=m fF wEm T 2 TS | A9F F A

(4)  Fae At AR S

Options:-
1) 1
2) 2
3) 3
4) 4

Correct Answer: -1

Question 5

If the scale parameter (r) is greater than one (r >1) the CES production function exi

(1) Decreasing returns to scale (2) Constant returns to scale

(3) Negative returns to scale (4) Increasing returns to scale

I GO 9= (1) TF (> 1) F 19 2, a1 ° 5 UH 3cUe THE F41 Il 2 7

(1) =19 T ZTEeTF Sasd (2) O W/ HEa gawe
(3) T T ETEHF Utaw (4) W W Sed 70 iawd
Options:-
1 1
(2) 2
(3) 3
4 4

Correct Answer : -4

Question 6




The cash flow approach to assessing debt capacity involves the following steps: arr:

steps 1In a correct sequence:

(A) Specify the tolerance limit on the probability of default.

(B) Estimate the probability distribution of cash flows, taking into account the

performance of the firm.

(®)) Calculate the fixed charges by way of interest payment and principal 1

assoclated with various levels of debt.

(D)  Estimate the debt capacity of the firm as the highest level of debt which 1s a

Choose the correct answer from the options given below:

1)  D.©).A). B
2 @.®.(©).D
3  (B).(C). D). A
@ D). @A).(©).(®B




U1 AHAT SRS 7 TGl TATE SUFH § HEfaiagd =0 e 2| 39 =00 6 @6 %H 1 Sated

(el el e

(A) % = = FEIEAT W SEEa B H G GEae we
(B) FH % ATHG FHEFECIGA F SH H TG 7T THG AT F FEIEd [Hain F e W

(C) =AW % a9 &0 ¥ 93 =419 YaH 31 goeq [YaH % 71599 F 39 79w i e

(D) =R % I==qH WA T F =9 H FH R FEAT F AT B

= f2u U fawed] § | 9E1 I 99 B

(1) (D). (C). (A). (B)
(2) (A). (B). (C). (D)
(3) (B). (C). (D). (A)
(4) (D). (A). (C). (B)

Options:-
1) 1
(2) 2
3 3
4) 4

Correct Answer : - 2

Question 7

1s a percentage discount rate used in capital investment appraisals wk
the cost of a project and 1its future cash inflows into equality.

(1) Accounting rate of return (2) Internal rate of return
(3) Profitability Index (4) Net present value

U Ufaer g 3 2 e T 39 gt e gea 8 R S 2 e siaa afEsen @
Tl g FauaTEl H TEEAl F S 9 S A 2

(1) = vfawa = @) At e &
(3)  =HWEAl FEEF (4) Ta= F99m 5o

Options:-




(1) 1
(2) 2
3) 3
(4) 4

Correct Answer : - 2

Question 8

Match List I with List I :
List I (Organisational Design)

(A) Learning organization

(B) Spaghetti organization

(C) Fishnet organization

(D) Network structure

@
an

(1D

(IV)

List I (Features)
Flexability in the structure or Lack of struc

Linking of separate parts of the same org
or networking of separate organisa
accomplish a common goal.

The ability to continually change struc
internal processes to conform to feedback
environment.

Flexible, adaptable, rearranges itself quic
retaining its inherent strength

Choose the correct answer from the options given below:

1 @-dpn. @B - dD.
2 @-dadp. @ - O.
B @W-O. @® - av.
@ @A@-a. @ - O.

€ - av). @M - @D

© - av). @O - a
(€©) — dIn, (D) - dD
© - @V, (D) - dm




gl 1% i g 11 &1 fverm Sifao
gt I (armsfis arfiveea)

(A)
(B)
(C) fwwrde |aA

(D) Fead HEAT

A fau o forspedi & @l I w1 9 i

(1)
(2)
(3
(4)
Options:-
(1) 1
2) 2
3) 3

(4) 4
Correct Answer : - 2

(A) — (IID).
(A) — (IID.
@A) — @,
(&) — (1),

(B) — dD.
B - @.
B) — V).
®) — @.

€).~

©) -

©) - @V).
av.
(C) — I,
av).

gefi IT (gt
@)  EEEH H eIl sial §ea1 6w
D) |YH IS & A W Hl A H
(IID) &e=A1 & ermar gfadd 1 drgar 59
ufdran uftaw & e ufqyfe omss & *
@V) =, T B A, $HE e
FARY T U dofl 8 30 gredafed &

@ - @

D) - dh
(D) — dDh
(D) — (ID)

Question 9




Non-sampling errors may arise because of:

(A) Vague definitions used in data collection
(B) Defective method of data collection
(C) Incomplete coverage of the population

(D)  Wrong entry made in the questionnaire

(E) Only a part of the population is observed and expected to avoid census study

Choose the most appropriate answer from the options given below:

(1) @).®). (C). (D) only
2) (A, (©). (D). (E) only
(3)  (B).(O). (D). (E) only
(4 (A, (B). (D). (E) only




M-ufd === go fAfataa 4 ¥ 7 o0 & 21 Tl 2 7
(A)  ATHI TUEY § YT ATT TR

B) ARSI TRV i AR Aty

(C) =Wf = AYW =9 § wige o

(D)  wvAgEt ° #i TE Tea qfare

(E) 901 H5999 F 9= % foiu g9 & 70 &0 21 ua 5 S 2 31 5 o $i

+r fou o faspeat § @ gEE S9gFd I H =9I HIAC

(1)  #34 (A). (B). (C). (D)
(2)  Fa4 (A). (O), (D). (E)
(3)  #=@a B). (C), (D). (E)

4  FF (A). (B). (D). (E)

Options:-
(1) 1
(2) 2
3 3
4) 4

Correct Answer: -4

Question 10




Match List I with List IT :

(&)
(B)
(©)

(D)

List I

Hedgers

Financial derivatives in India

Arbitrageurs

Commodity future in origin

List IT
(I) Osaka
(I) Increased volatility

(ITI) Commercial producers

(IV) Riskless profit

Choose the correct answer from the options given below:

(1)
(2)
(3)
4)

@->O. @ - av),
(&) —D. (B) — db.
&) -1av). (B - ),
A -dn. @ - d.

(©) — d,
©) - @V).
© - .

(C) — (I,

(D) — dIDh
D) - @D

D) — dD
D) - @V)




gt I @1y = 11 &1 frem ifao

(A)
(B)
(©)

(D)

gl I
yfereqe ()
qrd 4 fasfta Sfafea

FUIfed] = 1 3¢9

4= feu o fyemeqt | HE I &1 994 Fifso .

1 @A@-0.
(A) — (IID.
(A) — (@V),

(A) — (ID).

B) — AV).
(B) — d.
(B) — (IID).
®B) — @.

(©) - dD,
(2)
(3)
4)

(©) — AV).
©) — @.
(C) — I,

Options:-

1 1

(2) 2

3) 3

4) 4

Correct Answer : - 2

e 11
D) &1 gt Faerd

(IID) arfuif>e Ieres

(IV) wifigy fza ey
(D) — (III)

D) — @D

(D) — (1D

D) — aV)

Question 11




Arrange the following countries in the ascending order of their contribution tc
budget 2020:

(A) China

(B) Japan

(C) Germany

(D)  United states of America

(E) United Kingdom

Choose the correct answer from the options given below:

1) @&). ®B). D). (E)and (C)
@ (D). @A). ®B). (E) and (C)
3  (E). ®B). (). (A) and (D)
@ (D). A). B).(C)and (E)

feferfiga <on &1 gy & 311 a9z 2020 4 3% F9EH & IFFHR AWE w4 4 I

A HH
(B) SAT9TH
(C)

(D) HYF T IUfH

(E) FA1ees frey
9 feu o fawedi 4 9 w8 I %1 999 Fifsu

D A. ®). D). ®) 3 (C)
@ D). A).®.® 3 (©)
3 (B ®).(©). ) 3t (D)
@ D). Q). ®). (C) 3 (E)




Options:-

1) 1
(2) 2
(3 3
(4) 4

Correct Answer : -3

Question 12

Usually in which one of the following performance appraisal technique,
self — ratings are negatively correlated with their subsequent performance in an as
center?

(1)  Appraisal by subordinates (2) 360 — Degree feedback

(3) Self — ratings (4)  Peer Appraisals

- [ e\ . (= > o e n v 2 g D € A
AHTEG: WA AEd 3 J T6E SEEHIEA HoHl=nA d=pl=h H izﬁﬁ | Hedl=hA g H hdl &
[as [T A\ s X -
34 ':ﬁl 3l 'zl':li:l'f'3|?-a,:| G FhTcH=E THATH i'*’-“ AT & ¢

(1) e R g @ 360 ferfi Frssm
3 @ (4)  TEwET g A
Options:-
(1) 1
(2) 2
(3) 3
(4) 4

Correct Answer: -3

Question 13

‘A’ Minor takes a loan of Rs.4.000/- from ‘B’ during his minority, on attaining m:
applies to ‘B’ for a further loan of Rs. 3.000/- ‘B’ gives this loan and obtains {
combined promissory note of Rs.7.000/- for the two loans. This 1s considered as:

(1) Void Contract (2)  Valid Contract

(3) Illegal Contract (4) Unilateral Contract




IR ‘A’ A FEAFERAT F 20E B H %.4,000 R0 wd1 2| 995% 24 W a7 B’ % uE
sfataa /0 @4 % fou o7aed #a1 21 B 92 /0 2 2a1 & 31K A’ H 21 WO & 1o %.7,0(
TTaST-93 ofaT 2 a1 39 =5ET e

(1) =39 e @ Ay TfE
(3)  R-rE Hiaw @)  EwE i
Options:-
(1) 1
(2) 2
3) 3
4) 4

Correct Answer : - 2

Question 14

The annual demand for an item is 3.200 units. The unit cost is ¥ 6 and inventor

charges 25% p.a. If the cost of one procurement is ¥ 150, determine number of .
year:

(1 3 2 4

(3) 6 (4) 800

foredi aeg i anff= = 3200 TE 21 T Fi @ 6 T 2 #F AEE IEE THR 25% Widas
iz Fl AFE 150 T99 2 91 3773 1 g [yiia Fito)

1) 3 2 4
3 6 (4 800
Options:-
(1) 1
2 2
3) 3
4) 4

Correct Answer : - 2

Question 15




Which of the following 1s not true for supply chain mangement approach?

(1) Joint reduction in channel inventories
(2) Large breadth of supplier base to increase competition and spread risk
(3) Risks and rewards are shared over long term

(4) Companies use intermodal transportation to reach to their markets

1 % ¥ FH- Sfd—TEen T6eE U F T | TA J6l 2 ¢
(1)  =F=-g= awl 5 Zg7a w4
(3) = aaty § Figq vd uiawd °§ GrEEn

Options:-
(1) 1
(2) 2
3 3
4) 4

Correct Answer : - 2

Question 16




The reasons put forth for the control over the activities of the international banks a
(A) These banks encourage inflation by adding stock of money supply throt
creation

(B) These banks some times are responsible for bank failures that mar the inte:

depositors

(C) They cause unmanageable iIndebtedness among the barrowing govern

charging high interest rates

(D)  They do not adhere to the credit allocation policy of the host government

Choose the most appropriate answer from the options given below:

(1)  A).®). (C)only
(2)  @A).(C). (D) only
(3)  (®).(C). (D) only
4 Q). ®).©). D




(A) 3 &% Tr@ Fmio & qeEm ° 9Agd w0 gEehitd 1 S 3d 2

B) T SH1 H 9 G F-FH &% fawa 71 99 2 Eg e w1 e 39 J 2

(C) A 3=9 &4TH 2 oL 3T F0HT Fl UH] FIIdl § 316 2d 7 (9] =951 9281

Hr= f2u v faeai § ° Fem 3UgFd I 99 HiA

(1) 3= (A), (B), (C)
(2)  Fad (A, (C), (D)
(3)  Fa= B). (C). (D)

4  @A).®). (). (D)

Options:-

1 1

(2) 2

3 3

4) 4

Correct Answer : -4

Question 17




Match List I with List IT :
List I

(A) Probability distribution

(B) Binomial distribution

(©)

(D) Uniform distribution

Hyper geometric distribution

(D 0"_-\}

—s

) o=+Xpx —,u)2

(ILD)

@ o= f(3)(2)(X=z)

Choose the correct answer from the options given below:

1  @-3a. @ - dI,
2 @-ad. @ - dIb.
3 @-ad. @ - .

@ @-0O. @® - d.

©) - av).
©) - @,

(C) — I,
(©) — am,

D - @D
®) - @)
(D) - dAV)

D) — dAv)




gl 1% @19 g4 11 &1 fyem $ifao

(A)

(B)

(©)

(D)

H14 fou 1o faespedi | H& 39t #1 =71 Hifsw

(1)
(2)
(3)
C))

g4l I
HYregdn fadq
feg ae

@) -dn. @ - dn, (©) - dAv).
@A) -1n. @ - adn, (© - .

@-da. @ - @d. (© — di.
@A->@. @ - dn. (©) — d,

Options:-

(1) 1
(2) 2
(3 3
(4) 4

Correct Answer: -1

g1 11

[(b-q)*
58 1 q)
@ TV 12

I o= \/Z p(x —ﬂ)‘;';

(III) o =4npq

o o= i3]

® - @D

D) - aAv)
D) - aAV)
D) - IV)

- E=

Question 18

Which of the following 1s not true about rural markets?

(1)
(2)
(3)
(4)

Print media is not necessarily impactful in rural markets.

Rural customer 1s price sensitive.

No significant change may be required in the advertising copy.

Products should be simpler, easy to use, service and maintain.




=9 § FF ATHO AR F T9E § 925 T8 2 7
(1) == *1ava® 9381 2 % T difemn anfior smsm |+ w9 =)

(2) T ATEE GoA TSI AT 2|

(3) fagma ufa # Frft Aecayel uftada i smava=war 7@ 2|

(4) IS WA 71 AN 3T SN Ud Tg-TEE °§ AEE A

Options:-
(1) 1
(2) 2
3 3
4) 4

Correct Answer : -1

Question 19

Which of the following countries/territories is not a member of the WTO?

(1) China (2) Russia

(3) Iran (4) Taiwan

frafefiga 9 9 #19-m 291/ &3 fava =R @1ed (WTO) 1 9359 981 27

o)

(1) =4 (2) =4
(3) =M (4 dEaE
Options:-
1) 1
2) 2
3) 3
4) 4

Correct Answer : -3

Question 20




Match List I with List IT :

ListI List II

(A) Actual Delivery (I) Delivery of means of obtaining possession
by the seller to the buyer

(B) Constructive Delivery (I) Physical handing over of the possessio
goods by the seller to the buyer

(C) Symbolic Delivery (III) Voluntary transfer of possession of goc
seller to buyer

(D) Delivery (IV) Acknowledgement by a third person in p
of goods to hold them on behalf of an
disposal of the buyers.

Choose the correct answer from the options given below:

1 @W-av. ® -O. (© - adn. @) - dp
2 @-d. @® -av. © -@. @D - dI)
@) @A-O. @ -dD. () - av. (D) - I
4 A-dn. B) - dadp, (© - av. @d - @D




gt 1% @y gt I %1 Hee i

=t 1 =t 1T
(A) dr=tEa® goe (I) Tagea1 g a1 = 516 F1 Fa1 6= F 21599 F1 T5H
(B) TEATCHE gl (IT) Tashar g1 el =i AT % 64 H1 Giia®s ggei
(C) e gt (III) feshan @ ka1 o HT & F6d 1 Eiegh Aol
(D) =TI (IV) =T 9 eell @4 a1 died =afFa grn i 5 3

SR H 3R I9% o0 91 F @

Hi= 20 TU fawedl § 98 39 H1 999 FIA

1 A-Iv). B -@O. (€ - . D - d
(2) A-1). @ - adv)y. © - @. @O - dImIm
(3) (A) — (D). (B) — dII), (C) — dV). (D) — @)
(4) A)-1I). B) - 1). ) -av)y. M@ - @D

Options:-
1) 1
(2) 2
3 3
4) 4

Correct Answer : - 2

Question 21




Match List I with List IT :
List I (Methods of Inventory Control)

(A) JIT system (D
(B) ABC Analysis an
(C) FSND Analysis (I1I)
(D) VED Analysis Iv)

List IT (Explanation)

Divide the items into the categori
descending order of their usuage ra

Divides 1items into categories
descenting order of their critical us

Inventory arrive to the manufactu
just few hours before they are put t

The i1tems of 1nventory are
according to value of usage.

Choose the correct answer from the options given below:

o @-@O. B -d. (© - d.
2 @W-a. @ - dD. (€ - av,
3 @A@-dadn. @ - av. © - @.

@ @-av. B - dn, (©) - d,

D) - aAv)
D) - @D
(D) — dD

@ - @




gl I |19 g 11 @1 frer Shifao

g4l I (Y9 e i fafen) o1 1T (s4re)

(A) JIT Feey @ a3 ®l 36 TIF ¢ b YW W AE HH °
2vfied &l

(B) ABC fagemu (AD) %37 %1 39 GEcaqul AN $ YN W faved
gzl

(C) FSND fagerau (II) AMH-= |EE #1 w&E fer 5@ % 9= 358
fafamion woret W wg=dt 21

(D) VED fawero AV) FHE-GH 6l aEg3ii Sl b 90 eI & YW
fepan s 21

4= feu u fyeed] | 921 3 &1 994 $ifso .

1 @-0O. G -d. © - dh. @ - adv
2 @-dadn. @ - dDh. ©) - av. @O - @
3 @W-adp. @ -av. © - @. @O - d

@4 @A@-av., @B - dDn, © -dah. @O - @

Options:-

1 1

(2) 2

3) 3

4) 4

Correct Answer : -3

Question 22
Which one of the followings 1s not included in the term “Work™ under copyright Act

(1) A Cinematographic film (2) Layout designs of integrated ci
(3) A sound recording (4) A dramatic work

FTITEZ A4 F9, 1957 % 37a7a fAtoiiad 5 9 69 =1 % § afeferd 981 1631 =mar 27

(1)  TeAaemes fFey (2) 2T Hihe F A-31132 UfaEy
(3) =AM fowrtsn (4 TF AEHE wE




Options:-

(1) 1
(2) 2
3) 3
(4) 4

Correct Answer : - 2

Question 23

The rights of the consumer as enunciated under section 6 of the consumer prote
1986 includes:

(A) To be protected against the marketing of goods and services which are haz
Iife and property
(B) To be assured the competitive price and low cost quality products and service

(C) To be assured that consumers’ interests will service the due conside

appropriate forums
(D)  To be protected for multiple use of products. profits, diversity and equity.

(E) To be informed about the quality. potency. purity and price of goods or servic

Choose the correct answer from the options given below:

(1)  (A).(B)and (C) only
(2)  (B).(C) and (D) only
(3)  (C). (D) and (E) only
(4)  (A).(C)and (E) only




ST T AT, 1986 =GR 6 % STHR SN F Atgw 14 f=feriga e 2

B) ufgErlt gea 3 AT ToEET et e AR FEE S|

(C) =z wwamH % sudianst =+ faai W ogfaa 9 w sta fmm e smom)

(D) e, @Y, fafagd 3 TaaT & Sa T Eg S|

(E) 312 J "aeqt 1 [oraen, Wigd, 9gar 9 99 % 96 § graa A e

Hra 2w o faweai § 9 58 I & 5=a Fifaw

(1)  #= (A). (B) 3l (C)
(2)  Faa (B). (C) 3R (D)
(3) @&« (C). (D) =R (E)

(4)  #Fad (A). (C) 3 (E)

Options:-
(1) 1
(2) 2
3 3
4) 4

Correct Answer: -4

Question 24




Which of the following explains downward slope of an ordinary demand curve?

(A) Income effect of price change
(B)  Substitution effect of price change
(C)  Utility Maximising behaviour of consumer

(D)  Risk averse behaviour of consumer

Choose the most appropriate answer from the options given below:

(1) (A) and (B) only
(2)  (B). (C) and (D) only
(3)  (A).(B)and (C) only

(4) (A). (C) and (D) only




fr=Afefigd § & 991 S /I g% wh] FEETHT @ B TIE AT 2 7

(A) g UiEd 1 AF 99|

(B)  H7F Ui 1 AT 99T

(D)  3UNI F1 @9 § 9FH I HEER|

= 23U U fosedt § § Ted 39T 3 A 99 I

(1) Fad (A) 3R (B)
(2)  Fad (B). (C) R (D)
(3) & (A), (B) 3R (C)

(4)  FF9 (A), (C) # R (D)

Options:-
1 1
(2) 2
3 3
4) 4

Correct Answer: -3

Question 25

Which of the followings can be categorised as information processing services?

(1) Legal services (2) Health care
(3) Education (4) Management consultancy




=98 o Tohae TaT gEAT-TiEaT (SR EE S ) § aiha A S ST 2 7

(1) =t Fam (2) A Hedl E-uTE
(3) Toem (4)  vEgT TEA
Options:-
1) 1
(2) 2
3) 3
4) 4

Correct Answer : -1

Question 26

What is the value of a levered firm “L" if it has the same EBIT as an unlevered

(With value of ¥ 700 lac). has a debt of ¥ 200 lac. tax rate is 35% under MM approa

(1) T 950 lac (2) ¥ 630 lac

(3) T 770 lac (4) ¥ 525 lac

fopedt sorfera ®9 “L” %1 9o 01 200 313 39 0 © & oE 91 R st | <UT, (70

g dTeAt) % TEE B 99T THF 9E 200 AN F1 RV U UH UH A9 % Aad 35% i w g

(1) 950 =g Tq—q (2) 630 =g 3":]';1
(3) 770 9@ TA (4) 525 =@ T
Options:-
(1) 1
2) 2
3) 3
(4) 4

Correct Answer : -3

Question 27




Which one of the following statements 1s true about the risk considered f

requirements under Basel I1?

(1) Credit risk. interest rate risk and foreign exchange risk
(2) Credit risk. market risk and operational risk
(3) Credit risk. political risk and country risk

(4) Credit risk. interest rate risk and political risk

(4) T@ AfEs, S 3 AMGE AR TG AiE

Options:-
1 1
(2) 2
(3 3
4) 4

Correct Answer : - 2

Question 28




Management According information is used for which of the following distinctive pu

(A) Measurement
(B) Control
(C) Recording transactions

(D)  Alternative choices

Choose the most appropriate answer from the options given below:

(1) (A). (B) and (C) only
(2)  (B).(C) and (D) only
(3) (A). (B). and (D) only

(4) (A) and (C) only




TEYR A GEA W A etatad § @ wE-9 fafre 3w # o ga 2

A T
B) ™

(C)  &F-2A1 = ATqaEA

D) FFTF T

H= f2u v faeTt 5 5 98 39 F 999 Hiia

(1)  =a= (A). (B) 31 (C)
(2)  Fa= (B). (C) #1 (D)
(3)  Fa= (A). (B) T (D)

(4) A (A) 37 (C)

Options:-
1) 1
(2) 2
3 3
4) 4

Correct Answer : -3

Question 29




The exemption with respect to HRA is based upon the following factors?

(A) Rent paid

(B)  Place of Residence
(C) Salary

(D) HRA Received

(E) Fair Rent

(F) Market Rent

Choose the most appropriate answer from the options given below:

1) @A). B). (). (D) only
2) @), (©). D). (F) only
3  A). B).(C). (F) only
4  A). ®).(E). (F)only

gebH T wa 4 e ffafaa swei w fek 2
(A)  graE T fern

B)  fram A

(C) daH

(D) 9T Heh e W

(E)  3f=a T

(F)  aran feuan

Hrd feu v fashedi O 4 Had 39gF I H1 999 FHifor

(1)  %da (A). B). (C). (D)
(2) &G4 (A). (). D). (F)
(3)  Had (A), B). (O), (F)

(4  %ad (A), B). (E), (F)
Options:-
-1 Oontion ID - 6207
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